SIEE FN2EALBESEER/\VFR—ILEFEXSE

B+ BN K FH 3
22 I 23
15
118 28 27 18 28
(%) 13A 13B
22 34 22 15 22 16 34
10H 10A 11A 11B 108
VN I T I IS I S
19 40 19 28 19 _— 14 16 15 36 22 20 38
68 5A ‘5B 17A 6A 4A
9H
oK)
J_ g 4= . ] I N
@ o [a| @ [6] [®| [@ o| [0 [0 [0 [0 [o] [®
ER #| [#0] (| (@] (M| |80 [#] [#0] [&] [F| [@] [F] ENERE]
e w(m| (m| | (| || (B |m| 0| (B 4] |®] |%
£ A I % i g = "W BH £y 8
A-EFTAEEE
B:ZAHEEAFEE
ZF L 1R A FE
19
20
12B

@ @ ® |® [® |@ ) o |@ |® ®
e | [AL| (o0 (| (W] (@] (R (AL (&N [#] [F]| [#0] [F| [60]
1R f||iR| B Bl AKX gl || |8 R || (B |x| |®
A | |#| | =| |+ ||| | M (E| T
= x| e s 1B &[] (@] Q][R (B] R [&] (%] |E



o B 12

£ B | & | BAskEeRa | 151 A EWTHRERE RS B RR | 15 B: BATRAKEE
1| w00 | % |wm=g[ ] T S Jmxmw| e | x |mumm § 1 sz
13 19 13 28
2| 1030 | % |emmk] & O Jameim| to0 | = | amm [ 12 5 Jams
10 21 21 6
%
1 — =
g |3] 1200 | % |mmzel $ T % Jaemmses| oo | x| = [ Z T 0 Jaimeme
9 - 20 13 14
g s 9 — 19 ; 4 — 9
g 4| 1080 | B[RS o |EAEH| 1330 | & |WEAE] o _ g |
9 20 38 13 17
H
* 5| oo |® | mmm [ 2T 1) JeussT| 1500 | B | awmm [, o ] sisamm
~ 19 28 19 14
6| 1630 | = |suesmmim] o0 10 | mmix | teso | B |mmrs[ O _ ) mmIx
36 22 19 40
7| 1800 | B |wmza[ Y T ) Jaaimz| eo0 | B | sm [ [ _ g |HEAE
16 15 13 19
H 72 | I8 | RS Es |1) A EWTAESE BRSAESFA |45 B BATRAKEE
_ AR 3B A 1B
gz |8] 90 | % |nmAxl [T 5 James| o0 | x (e[ , _ |0 sl
2 17 12 6 22
H BB TAB BH o 2AM
o o] oo | = | mm [ T, sz 1100 | % | AlWwE [ o _ g LIS
B 10 25 14 18
1 - 1B 6ARE PO 4AR%
S [tof 1a00 | [summis[ Y T 5 Jamax| s |2 |emwms ) _ T JExas
—~ 22 16 16 34
x 6B . _ SAl BB _ L, TAB
T ol1| 140 | B |mEmIs[ ;g |OEETE| 1420 | B | AmE [ o _ o |WE=E
34 22 15 22
B2 | I | BAERRA |15 A EWTIFE A BASKERRS |14 50 B: BT EHELE
BAR . 9ARH 9B - 8B
g 12| o00 | x |nmAE[ o |mmigk s | x | LWRHEB[ 5 _ o | ssTE
3 17 13 25 20
H 10AR% T UIABS 1B _ 10BR%
13 1030 | ® [smess] 12T 1% Jmmra| s | B [wn=s] ) T 1) Jmxes
6 28 27 18 28
7 A ERTIAE R
! 12A8 1281
g |14] 1300 | % [ARAE 24 [ 9 — 23 :I 19 FLIRET S
A 15 — 10
. 13AR% _ 1388
15| 1440 | B |[Himms 22 L o o 23 mxEs




